
Q.1. (A) Fill in the blanks with appropriate alternatives given in the brackets: (03) 

1. _____________ data is borrowed data. (Primary, Secondary, none of these) 

2. A ____________ is circular in shape. (Pie-diagram, Bar-diagram, Histogram) 

3. The index number of base year is _____. (0,100,101) 

(B) Match the pairs: (03) 

          Group’A’       Group’B’ 

1. Standard of living       (a) cumulative frequency  

2. Special purpose table     (b) cost of living index 

3. Ogive       (c) summary table 

 

 

 


